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> cor.test(aa,bb)
Pearson's product-moment correlation
data: aa and bb
t=6.1802, df = 8, p-value = 0.0002651
alternative hypothesis: true correlation is not equal to 0

|:|:| IJJ75X 95 percent confidence interval:
Sete - 0.6542283 0.9786369
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cor
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> aa<-c(1,3,10,12,6,3,8,4,1,5)
> aa
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> bb<-¢(20,40,100,80,50,50,70,50,10,60)
> bb
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> 7E<-1072/20

> 538K
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> sd<-sqrt(5 &%)

> sd

[1] 2.236068

> hist({Z2ARFH),freq=FALSE)

> curve(dnorm(x,mean=50,sd=sqrt(%#%)),add=TRUE)
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> 2R ¥ <-numeric(length=5000) z MEERDHTHD
N(50, 102/20)IZ3EL
> for(i in 1:5000){ o IR TIS.
+ 22X <-rnorm(n=20,mean=50,sd=10)
+ 2RI H[il<-mean(ZX)
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> hist(EAT 1) , ) .
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> sd1<-sqrt(1/1)
> sd2<-sqrt(1/4)
> sd3<-sqrt(1/9)
> sd4<-sqrt(1/16)
> sd5<-sqrt(1/25)

> curve(dnorm(x,mean=0,sd=sd5),from=-2,to=2)

> curve(dnorm(x,mean=0,sd=sd4),from=-2,t0=2,add=TRUE)
> curve(dnorm(x,mean=0,sd=sd3),from=-2,t0=2,add=TRUE)
> curve(dnorm(x,mean=0,sd=sd2),from=-2,to=2,add=TRUE)
> curve(dnorm(x,mean=0,sd=sd1),from=-2,to=2,add=TRUE)
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> HAFEH11<-12*14/20

> HAfF E#121<-126/20

> HA{R A $012<-8%14/20

> HA{FE $22<-8*6/20

> B EH<-c(AMFER I BFEH2 BIHER12, BinERK22)
> B EH

[118.4365624

> BRI #<-c(10,2,4,4)

> BRI #

[1110 2 4 4

> WA ZREFR<-(BAER-HFER) 2/HHFER
>HAZFEHR

[110.3047619 0.7111111 0.4571429 1.0666667

> HAZF<-sum(h( ZRER)

REHRAIEHOER 13 >hAZ% 16
[1] 2.539683
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x2 =% It B T T I e > qchisq(0.95,1)
E; E, Ey [1] 3.841459
> qchisq(0.05,1, lower.tail=FALSE)
FAERO, LHEEHE OB O TETTMTS. (1] 3.841459
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> 1-pchisq(2.539683,1)
L it [110.1110171
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jJ ,r - %/\ﬁ > curve(dchisq(x,1),0,6)
- 7] > abline(v=qchisq(0.05, 1, lower.tail=FALSE))
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dehisq(x, 1)

> curve(dchisq(x,2),0,20) Eh =
> curve(dchisq(x,1),0,20,add=TRUE) \
> curve(dchisq(x,4),0,20,add=TRUE) |
> curve(dchisq(x,8),0,20,add=TRUE) g1 ‘ ‘ ‘ I —
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> chisq.test(Y A R & &tk correct=FALSE)
Pearson's Chi-squared test

data: YARE&EEF

X-squared = 2.5397, df = 1, p-value = 0.111
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> curve(dchisq(x,50),0,100) 5.7 *j“/j)b*j"rfd)irﬁiﬁﬁ%’\a)%%
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